
Time: 10 Minutes Paper Math 7 (T-1) Total Marks: 10

6th Month, 2nd Week, 1st Day Exercise 5.2 Q# 7

 Answer the following questions:  
Q.1. Make a table and draw the appropriate graph for the following data.

Also explain why did you choose this graph? (1x10=10)

 
(i) A bag contains 150 balls of different colours. There are 50 red balls, 20 blue

balls, 30 green balls, 15 black balls and 35 yellow balls.

 15  30  20  50  150 
 35 

(ii) Azhar rolled a dice 200 times. The number "1" was occured 20 times, the

number "2" was occured 35 times, the number "3" was occured 40 times, the

number "4" was occured 25 times, the number "5" was occured 53 times and

the number "6" was occured 27 times.

 4  40  3  55  2  20  1  200 
 27  6  53  5  25 
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